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1. In Inaugural Kho—&l&o; World  Cup,- which © 1. Ugel @i-@r fawasy # goy ok Afen yu o

countries played final match in Men & Women

group?

(1) India and Bhutan (2) India and France

(3) India and U.S.A.  (4) India and Nepal

(5) Question not attempted

- Which of the followings are correct about

Training Intensity?

(1) It1is the degree of effort during an exercise.

(i1) The parameter of intensity in the throw is
distance.

(iii) The degree of efforts is considered in terms
of time.

Select the correct code -

(1) All (i), (ii) and (iii) are correct

(2) Only (i) and (iii) are correct

(3) Only (ii) and (iii) are correct

(4) Only (i) and (ii) are correct

(5) Question not attempted

- “Physical education is a process through which

an individual obtains optimal physical, mental

and social skills and fitness through physical

activity”.  This  definition was  given

(1) Barrow & Barrow (2) Lumpkin

(3) Edward Hitchcock (4) J.F. Williams
(®) Question not attempted

- Movement is done with a swing in a rhythmic
manner to its maximum is known as -

(1) Ballistic method

(2) Slow stretching and holding method
(3) Slow stretching method

(4) Post-isometric stretch method

() Question not attempted

- When was Olympic flag first hoisted?

(1) 1920 () 1924 ‘:Tﬁ
(3) 1932 (4) 1928 'y
(3) Question not attempted
- “Answer books written by students are given
scores by the examiner” is an example

(1) Selection (2) Test
(3) Evaluation (4) Measurement
(5) Question not attempted

f1 Qe <1 wIgea #a Wel?
(1) 9RA R qed  (2) R 3R Wiy
(3) ¥R 3R guHT. (4 9RqT AR AU

(5) 3raIRd ue

- f=foRea & 9 @9 aferr dear a8 87

(i) I8 TP oI B SR w1 el 2

(ii) BPT (throw) H e &1 MR & 2|

(iii) vt &1 S & 9wy & ded § A
i ) o

wel e i —

(1) = (0), (ii) 3 (iii) wET &

(2) Bad (1) 37X (iii) TS &

(3) Bad (ii) 3 (iii) TEY &

(4) ®aa (i) IR (i) 98 &

(5) SrxIRe wes

. R RET ve Y ik ¥ Rrad weaE

| UE s INIRS il & aregq 9§ sean
WRIRG, AFRIS IR aGMifoe  @ive iR
flhea uT dxar & | I8 UREIST.... g

IR

(1) ST AR I (2) erfde

(3) veas fRasis 4) Siuw. faferr=g
(5) Srg<iRa ueA

« T BT 30 AHTH T TUGE T A el

gY {1 s a1 wgemar 2?

(1) sfaes fafyr

() 4 Tl 3 EiEA iR vy 31 Ay
(3) & i | <= @ fafy

@) e — Iswanifes wa fafy

(5) srgaiRa wee
- ATAMIS a9 Teell IR He BT TAT?
(1) 1920 (2) 1924
(3) 1932 (4) 1928
(5) Srg=iRa u=A
7 2 o T T | G - P TP
JETE & |
(1) =7H (2) gdieror
(3) FearH (4) M99
(5) srgxiRe west
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7. According to UGC Curriculum and Credit 7- NEP-2020 & 3R & HRHA @ g
Framework for Undergraduate Programme as UGC Urgdsh¥ iR fse Baas & 3ER, S
per NEP-2020, students who wish to undergo a B 3—a8t1 UG BriHH o 9y & 9 9
%ggfge I1JnG apfgagjr;i?;?:ci\p?lllilrllebzft:r Zc::iisgl(j il 9P I BE] A Sy fhan sive

: : BN &)1 @ 918 Y fawg § UG &t ugH
completion of three years and securing how I —y
many credits? o
(1)- 120 (2) 140 (1) 120 (2) 140
(3) 110° 4) 130 (3 110 (4) 130
(5) Question not attempted (5) Srg<IRa we
8. Which of the followings are correct about 8- fRATRe® & IR § fF=faRag § § S BeH
Gymnastics? el 27
(i) The Federation of International Gymnastics (i) BT AP STy orHARe T &Y
was founded in 1891. g 1891 H g% off |

(ii) Men’s gymnastics are part of “Modern” (i) g8 FSFaTRe® 1896 & "3Mga” iU
Olympic Games since 1896. el BT e 2 |

(iii)) Women gymnasts were included in Olympic (iii) e AR BT 1986 H aN<ifts wai |
Games in 1986. wnfAer foar ar o)

‘Select the correct code - el B g —

(1) Only (ii) and (iii) are correct (1) aa (i) 3R (i) F& &

(2) Only (i) and (iii) are correct (2) daa (i) AR (iii) TE B

(3) Only (i) and (ii) are correct (3) ®aer (i) AR (i) & B

(4) All (i), (ii) and (iii) are correct @) =Y (i), (ii) 3R (iii) A &

(5) Question not attempted (5) srg<IRd ge

9. Rapid performance of Rechaka and Puraka like 9 &R @I digl & T 2ol € & IR TP
the bellows of a blacksmith is............ Tl e g
(1) Kapalbhati (2) Bhastrika (1) FurerIRT (2) wRE®t
(3) Anuloma Viloma (4) Bhramari (3) gam e (4) ymY
(5) Question not attempted (5) argaRd U=

10. The standard skin fold callipers are supposed to ~ 10- T AF% R&T Bieg DR T RFbT Bics
exert a pressure of ....... during the skin fold 79 ¥ fraar UIR e 27
measurements. (1) 20 7T /e, "R
2 Mo i 0 /e

Sl 13 12 T/l TR
(3) 12 gm per millimetre square
(4) 14 gm per millimetre square (@) 14 3m /fEl. TR
(5) Question not attempted (8) erguiRa we

11. All India Council of Sports was established by ~ 11- aiRael YRfT W uRvT H w91 Bl e
the Union Ministry of Education in which of the AT ERT 69 a¥ @) 78 ofi?
following year? (1) 1959 (2) 1956
R S @ 1958 @ 1954
(3) 1958 (4) 1954 ) b
(5) Question not attempted SRR
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12. Which of the followings are correct? 12. f=aforRaa § & B9 w8 &7
(i) Test determines “How Well” (i) w¥teToT TE fREiRa bear & fob e sreo
(i1) Measurement determines “How Much” g
(iii) Evaluation determines “How Good” (11)_1=|Tq7f. feperr FiRer e € |
(iii) HeaTem e T’ fuiRa &xar 2|
Select the correct code - ﬂ@f 2 fﬁ
(1) Only (i) and (ii) are correct ) EB;H () R (i) wd &
(2) Only (ii) and (iii) are correct @) Baet (i) 3R (Giii) &
(4) Only (i) and (iii) are correct @) B9 (i) 3R (iii) L F
(5) Question not attempted (5) aq—:ﬁ-fﬁa goq
13. Dronacharya Award for outstanding coaches in 13- €@ Wal # 2024 &1 S @ & oy
Sports and Games 2024 in Hockey was awarded 21T REHR 9 fegsr g=nfaa fear e
Ly (1) si T o
(2) Shri Sandeep S iy e s
an ee;; angwan @
(3) Smt. Deepali Deshpande
(4) Shri Abhishek T @) ot srfir
(8) Question not attempted 14 ﬂ1 (5) FFART e
14. Well-being is a very wide term, but from the 14 Ggoxcil TP dgd @UP g B, AfdT @R
view point of health and happiness, it is the IR G & gfedvr A, 98 INIR®, ",
highest state of physical, mental, intellectual and dfEd 3R AEaHe HOT B S=aH Refy
emotional  wellness in  which an 2 R we afs o
:;1)(11;.{1duall)..;....{.1 ...... 2 ) e & sl & 3
ives best and serves best. :
@ 1 (2) % &l & ifd el Har owar 2
ives busy but serves best.
(3) lives comfortable and serves best. (3) SMRTT & IEA & S I a1 el & |
(4) lives most and serves best. (4) Tt ST & SiR Sreet WaT e & |
(3) Question not attempted (5) tﬂjﬁﬁﬁ BES]
15. Mid-day Meal Scheme is also known 15- HeTE WIoTT WS BT o o W 9 f
A8 e ssinenas ST SfTl & |
(1) National Programme of Nutritional Support (1) Sw—wrafis Rrm & v g weeh
to Higher-Secondary Education. eIl U T i |

(2) National Programme of Nutritional Support
to Nursery Education.

(3) National Programme of Nutritional Support
to Primary Education.

(4) National Programme of Nutritional Support
to Secondary Education.

(5) Question not attempted

(2) F98 Rem & fow qwor wee werar e
ML PTRIHH |

(3) yrafAe Rem & fore grgor Heeh wergar ura
I BdH |

(@) wreafie fRrem @ foau 9o el gerr
T IS BRI |

(5) srgaiRa wew
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16. Which of the following/s is/are correct about the ~ 16. Tz iRk gwufims Wall & IR # fAw=forRad
Pythian and Isthmian Games? 9 PN/ B R 8 /87
(i) Pythian Games were organised in the honour (1) TSI Wl BT AT 9aE TS &
of God Poseidon. | H fHar o)
(ii) Isthmian Games were organised after every (ii) SRIAI Well BT AT B2 el 918
2 years. favar Srar o |
(iii) Isthmian Games were organised in the (iii) SRAPIT Wl BT AT 9 A4l B
honour of God Apollo. | H fHar ST o
Select the correct code - HEl &S I —
(1) Only (i) and (ii) are correct (1) ®aer (i) 3R (i) T &
(2) Only (ii) is correct (2) Had (i) T &
(3) Only (ii) and (iii) are correct (3) @aa (i) 3R (iii) FET
(4) Only (i) and (iii) are correct (4) Baa (i) MR- (iii) T& 8
(5) Question not attempted (5) e,r:iﬂﬁa g9
17. According to NCTE-2014 notification, which of ~ 17- TRiIdIS, 2014 @ QAfR@ETT & R,
the following professional programme is meant frforRaa & & a7 gaaie ariEq gl
for preparing Physical Education Teachers for e & URRE TR (e 1 ¥ 89 9F) @ forg
elentlhef?ltary stages of School Education (Class 1* TRE R Rt B TR e @ o 27
to 8™)7
(1) B).P.E.S. (2) C.PEd. i 2 G B
(3) D.P.Ed. (4) B.P.Ed. (%) D.P.Ed. (9 B.P.Ed
(5) Question not attempted (8) rgaRa g
18. The monitoring of the National Coaching 18- ¥ BT WM & FRMA fFas grT &
Scheme is done by - ST 87 :
(1) Ministry of Health (1) wWReg 37y
(2) Ministry of Education (2) R d=rer™m
(3) Ministry of Youth Affairs & Sports (3) War Td a1 BT HATSTI
(4) Sports Authority of India (4) gRdT Qo gIfers o
(5) Question not attempted (5) SR wed
19. Which of the following is not a parameter of 19 fA=foRag & & d= 917 @8 & WA
- External Load? T8l 87 '
(1) Concentration (2) Intensity (1) ToHrrEr (2) Sraar
(3) Type of Exercise (4) Volume @) =M &1 ISR (4) [T
(5) Question not attempted (5) argaRa w=A |
20. In which Olympic Games full gender parity was  20- {5 3ficifisds @al # qoi foiv1 FaMar 1R &1
achieved? g off?
(1) Paris, 2024 (2) Sydney, 2000 (1) uRk<w, 2024 (2) s, 2000
(3) Paris, 1924 (4) London, 2012 (3) uRk¥, 1924 (4) @ise, 2012
(5) Question not attempted (5) aﬂﬁﬁa I
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21. Which of the followings are correct about 21. FHrefgEse <ifeT & IR d fr=falRag § @
Carbohydrate Loading? DITH T 57
(1) It is effective for endurance event that lasts (i) TE 10 fAie ¥ e 999 9% T arell

more than 10 minutes. - HeEeIfdd &yl & forg v siaT 2
(1) 1 gram of muscle glycogen is stored along (i) 1 T FEoehy ‘?I'I’:'{dﬁﬁ'r‘f 3-4 I Ul &
with 3-4 grams of water. 1Y HUBT Bl § |
(iii) Due to it, around 1-2 kg of extra water is (iii) I9P PR INR H T 1-2 fHaum™
stored in body. IfRad ol ST & e § |

Select the correct code - el @e g —
(1) Only (ii) and (iii) are correct (1) ®ad (i) 3R (iii) T &
(2) Only (i) and (ii) are correct (2) Bad (i) 3R (ii) T &
(3) All (i), (ii) and (iii) are correct (3) |4 (i), (i) 3R (iii) wer &
(4) Only (i) and (iii) are correct (8) @ae (i) 3R (iii) e &
(5) Question not attempted (5) raiRd we

22. What is the full form of HDL - Cholesterol? 22. HDL - BIei¥giel BT Gt BiH T 27
(1) Heat Dependent Lipoprotein - Cholesterol (1) g 3T fodimide — Pleigiad
(2) High Density Lipoprotein - Cholesterol (2) &8 TS fommid= — CARRH|
(3) Heat Dry Lipoprotein - Cholesterol (3) e o138 o — Plevgla
(4) Heavy Density Lipoprotein - Cholesterol @) 2 S fRMMdT — BT
(8) Question not attempted (5) argaRa e

23. Full form of NCTE is - 23. TTHEE BT YO B e 2 |
(1) National Committee for Technical Education (1) v a@erer RBrm afafy '
(2) National Committee for Teacher Education (2) I sregas Rrm afafa
(3) National Council for Technical Education (3) &g ddrar Rem uRug
(4) National Council for Teacher Education (4) Iy ereame Rem gRug
(5) Question not attempted (5) FgalRa ueA

24. Which among the following is not a test item of ~ 24- fy=iforiRag ¥ ¥ TT BT J.C.R. THeT T
Phillip’s J.C.R. test? U C¥C 3MZSH T8l 27
(1) Chinning = (1) fafsr
(2) Shuttle Run T @ A
(3) Vertical Jump (3) afEmar vy
(4) Standing Broad Jump (4) fET gt oo
(5) Question not attempted (5) 3rgaRa we

25. The first match of National Cricket 25- YUl Sf® & =M ¥ o) o areht KSR
Championship known as Ranji Trophy was hae AR o1 ugar ¥9 B9 War TI7 41?
:)11)a yf;holl\lfl;rch, 1935 (2) 4™ November, 1934 ey R
(3) 12" January, 1935 (4) 4™ September, 1934 712 g 1987 (@) 4 Rivwe; 1934
(5) Question not attempted (6) srgeRa we
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26.

27.

28.

29.

The word hygiene is derived from Hygeia. What

- does it signifies?

(1) Queen of Hygiene (2) Goddess of Health
(3) Lord of Hygiene  (4) God of Health
(5) Question not attempted

Which of the followings are correct about

strength?

(1) Dynamic strength is ability to overcome

against resistance.

(i1) Static strength is the ability to act against any

resistance.

(ii1) Relative strength is not a strength ability.

Select the correct code -

(1) All (i), (ii) and (iii) are correct

(2) Only (ii) and (iii) are correct

(3) Only (i) and (iii) are correct

(4) Only (i) and (ii) are correct

(5) Question not attempted

Assertion (A) : The learner centered curriculum

design takes care of each
individual’s needs, interest and
goals.

Reason (R) : It seeks to empower pupils and
allow them to shape their
education through choices.

(1) (A) is true but (R) is false.

(2) (A) is false but (R) is true.

(3) Both (A) and (R) are individually true but

(R) is not correct explanation of (A).
(4) Both (A) and (R) are individually true and
(R) is correct explanation of (A).

(5) Question not attempted

According to UGC Curriculum and Credit

Framework for Undergraduate Programme as

per NEP-2020, a student who opts to exit after

completion of the first year~and have secured *

26. grgoiig vreg BISSIAT, ¥ ST & | T He<d & &

J?

(1) wWeoar & I (2) WRey P 4T
(3) wgwodT &1 dis  (4) Wy &I WIraE
(5) SrgaRa we

27. qrpd & R A FEfafad § 9 s wd 87

(i) el drehd UicRe TR H1g 9 &1 &war
z|

(ii) Wifad arba fee A ufoRky @ Raens o
P DI GHAT © |

(iii) TUET T b T &THaT T8l & |

el de I —

M) = (1), (ii) 3R (iii) TE &

(2) Bad (ii) 3R (iii) & &

(3) Bad (i) 3R (iii) GET &

(4) dae (i) 3iR (i) T& &

(5) IR g

28. g (A) : REmll ofeq uregsy feumea

Uld dfdd &I ATTIAHA], Bf
U4 &g BT g QAT 2 |
T® (R): ¥ Afdd &y 3o+ vy @ fRwe 4
- 5T BRr & Aegw | 9Yed 997
‘ 2| '
(1 (A)WE & (R) T 2|
(2) (A)7TAd & (R) 98I & |
(3) THT (A) 3R (R) 9! & 3R (R), (A) &1 Hal
TETHRT TET B |
(4) ST (A) 3R (R) 8T € 3R (R), (A) BT &
TETHRT B |

(5) IR ueT :

29. TEUI-2020 % IIJER FAd HRIHA & forg

B3 Sl Ugel 9§ 0T 8 & 915 e der

A 1 e gaT 8 iR 99 fban Bfse sifda

how many credits so that a UG certificate can be %«I+ fou & afe S :qmcﬁ THOYS UeE fdHar o

awarded to him?

(1) 40 (2) 50
(3) 45 (4) 55
(5) Question not attempted

D ?

(1) 40 (2) 50
) 45 (@) 55
(5) srgaRa T
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30. Which of the followings are correct about the  30- 297 29 & IR # fA=fiRad § @ HY B+
Table Tennis? Wl 87
(i) International Table Tennis Federation was (i) TR 9l S HETHE &) 19T 1926
founded in 1926. H gs ot
(ii) Table Tennis was introduced in Olympics in (ii) <9 =T BT 1988 H 3Meifies § wImfAe
1988. - feparr T e |
(iii) Table Tennis Federation of India was M (i) R S9a 2T HET " @1 Ted 1926 F
formed in 1926. et ok 31T o1 |
Select the correct code - : el §E g —
(1) Only (i) and (jii) are correct (1) &aa (i) iR (i) FET &
(2) All (i), (ii) and (iii) are correct @ 1 ), (i) R (iii) & &
(3) Only (i) and (ii) are correct (3) ®aa (i) MR (i) FET &
~ (4) Only (ii) and (iii) are correct (8) Bad (i) 3R (iii) FE &
(5) Question not attempted (5) AR W
31. Full form of IFAB - 31. IFAB &1 QT 79 —
(1) The International Football Association (1) T FRE hedid THIRTEE 918
Board RIS o rert
(2) International Football Amateur Board 2 o 1S
(3) Indian Football Association Board (3) =meciter ! ¥ e
(4) International Football Accreditation Board (4) SR Bedler Thafeeer I
(8) Question not attempted (5) srgafa e
32. Which of the following is not a test? 32. f=ferRad @ & SIadr gderor e 87
(1) Questionnaire of survey (1) |defor geTael
(2) Question Paper (2) gz
(3) Weight in Kg (3) o fhatum H
(4) Weighing machine (8) 9919 A= & 7
(5) Question not attempted (5) SrgaRa ue
33. What is the duration of Hockey Game? 33. giel M & ¥9Y HATST @1 87
(1) 70 minutes (2) 60 minutes (1) 70 fame (2) 60 fA=Te
(3) 120 minutes (4) 90 minutes (3) 120 fiFe (4) 90 fAmre
(5) Question not attempted (5) argaRa weA
34. Which of the following is not a Tennis Grand ~ 34. fy=foRe # & v fw s whw eafie
Slam Tournaments? ; Tl 87
(1) US Open (2) Davis Cup (1) 7ua U (2) =g &g
(3) Wimbledon (4) Australian Open (3) fdgere - (4) referga aiu=
(5) Question not attempted (5) rqaRa ye=
35. Poole Long Serve Test in Badminton is to 35 Jsfiess ¥ qo o<1 wd o= ufRgsT & ... #H
measure the ability to serve high and deep into Sed 3R MRS d% Afdd Y @) eHal bl
the opponent’s ...... A9 & forg 1
(1) Back lobby (2) Frontcourt (1) 3 arar (2) weard
(3) Backcourt (4) Side lobby (3) SFde (4) gz <t
(5) Question not attempted (5) 3rgaiRa ueH
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36. The Recommended Dietary Allowance (RDA) 36 199 50 9% & gosi o forg ferfd= o argeifa
of vitamins for 19 to 50 years male, which of the JMER ¥ (RDA) & forv fam=ferfRaa & & s
following is not correctly matched? e ST ¥ Hel T8l Wray 87
(1) Vitamin B3 - 16 mg/day (1) fefi= B3 - 16 fchum /=
(2) Vitamin B2 - 1.3 mg/day (2) fqerfs B2 - 1.3 el / s
(3) Vitamin B1 - 6.3 mg/day (3) fger™= B1 - 6.3 fiyeium™ /e
(4) Vitamin A - 900 pg/day (4) faer@T A - 900 pg /fes
(5) Question not attempted (5) argaiRa ued

37. When a “World Athletics Certified Start 37- "&iq g vedfea yifora werd ga=m yormel
Information System is in use”, Recall is given IUIRT H Bl 27, O gfafesan 9qa feaw das
when the reaction time is less than - H HH M R TToa goad (Rafd) € ol 872
(1) 0.200 second (2) 0.150 second (1) 0.200 F< (2) 0.150 9w
(3) 0.100 second (4) 0.050 second (3) 0.100 TPp< (4 0.050 9FS
(5) Question not attempted (5) argafRa e

38. The stop board of white colour and made of 38 ¥Hg ¥ &1 WU IS o f& b a1 IR
wood or other suitable material is used in which AT BT 941 BT 7, (69 et gde & forw
athletic event? ST H 7T 87
(1) Shot put (2) Javelin throw (1) T v (2) e BF
(3) Hammer throw (4) Discus throw (3) AR T B (3) TTPHT D
(5) Question not attempted (5) eraRa ueA

39. Kabaddi was demonstrated for the first time at 39 HIGS! HI Y&IT UBell IR FRMET WR W
the international level during 1936 in Berlin 1936 & dfets aMcifUe & s grr foar T
Olympics by - : oqr?

. :;; Ka‘t.)addi Federation of India (1) ¥RST Fa<d) FENH
G i 5 Wg ;}F”
(4) Hanuman Vyayam Pracharak Mandal, - g Tl :
Arntavil. (4) B M YRS HSdl, ERTE!
(5) Question not attempted (8) SrgaRe ue

40. What is not a method to improve the flexibility? ~ 40- BIFET TRIBT eTlelu= & AP & oI S 781

(1) Plyometric method SATeT?

(2) Slow stretch & hold method (1) e dre

(3) Post-isometric stretch (2), ¥ SoTEHT KBS Her
o (3) dre—agamigd W

(4) Ballistic method @) IRes Jore

(5) Question not attempted b £ (5) IrgaRd wee

41. What are proximate principles? M. Y diedite Rigia et omar 27
(1) Protein and Carbohydrates (1) WA U9 FEEREwe
(2) Fats and Carbohydrates (2) T9T U9 FEEESe
(3) Proteins, Fats and Carbohydrates (3) W&, T4 U9 HEEESe
(4) Protein and Fats (4) 9 vg gur
(5) Question not attempted (5) IR U
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42,

The total amount of work done while performing
an exercise or in training session is known as -

42,

QAT HIA Fa A7 U 939 § By 7y Hrf

DI el AT FIT BT 27

(1) Density ofload  (2) Stimuli of load (1) YR &1 g9 (2) YR BT IASHT
(3) Intensity of load  (4) Volume of load (38) WX & dgar (4) R B 1937
(5) Question not attempted (5) argaiRa U
43. Who founded a system of gymnastlcs known as 43. fpas RSiRed womell @ zenmuem & o
Swedish Gymnastics? Hifeer reies w1 Tar? ;
(1) Niels Bukh (2) Per Henrik Ling (1) e g (2) R &R foim
(3) GutsMuths (4) Franz Nachtegall (3) W&H (4) wisT ST
(5) Question not attempted (5) a@aﬁa g
44. Isokinetic method was first introduced in the 44- 1968 ¥ aMgAIBIGIed AR BT UZel IR e
year 1968 by whom? gRer HRar?
(1) Sieger (2) Prof. Hare (1) ¥R (2) 1. &
(3) 1.J. Perrine (4) Cooper (3) il uRk| 4 auR
(5) Question not attempted (5) SR e
45. Match List-I with List-II and select the correct 45 JHi—1 & GA-1I ¥ e g7 Sfd @e @
code using the lists given below — AT BR Fal SR Gl —
(A) Bio-medical concept of Health (A) WReY &) IraMfSHe TR
(B) Ecological concept of Health (B) ®@Teey &) yIRRRI® araemom
(C) Psycho-social concept of Health (€) W~FTHT%1?5 TR TR
(D) Holistic concept of Health (D) ?TIIU!I ) TR FEIROT
Lo T -1
(1) dyn.amlc equilibrium between man & (i) 7T Td e s i
environment :
(i1) freedom from disease (i) P ;
(ii1) social and psychological KL T ; 59 Bilas
(iv) wellbeing (iv) geTdTE
Code - ®e —
(1) (A)-(ii), (B)-(), (C)-(iii), (D)-(iv) (1) (A)-(i), (B)-(1), (O)-(iii), (D)-(iv)
() (A)-(iii), (B)-(iv), (C)-(i), (D)-(Gi) [k F (@) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)
(3) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i) ¥ &&= (3) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(4 (A)-(), (B)-(ii), (C)-(iii), (D)-(iv) @) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
(5) Question not attempted (8) srgaRa we ;
46. In Traditional Assessment in physical education, ~ 46- ¥R e # yRuR® geaie ¥, e B3]
teacher relied on how many types of assessment & g Bl 9104 & g fhaw TaR & gedian
to measure students learning? IR AR Hd 97
(1) Two (2) Five M < (2) 4=
(3) Three (4) Four (3) 99 (4) gr
(5) Question not attempted (5) SraRa W=
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47. Which one of the following Institution was

48.

49,

50.

established principally to work for the cause of

indigenous physical activities?

(1) Nagpur Sharirik Shikshan Mahavidyalaya,
Nagpur :

(2) Christian College of Physical Education,
Lucknow

(3) Shree Hanuman Vyayam Pracharak
(Prasarak) Mandal, Amravati

(4) Lakshmibai National Institute of Physical
Education, Gwalior

(5) Question not attempted

Which of the following/s is/are not correct about

Tuberculosis?

(1) Tuberculosis is caused by Mycobacterium
tuberculosis.

(i1) Tuberculosis is caused by Mycobacterium
bovis.

Select the correct code -

(1) Both (i) and (ii) are incorrect

(2) Only (i) is correct

(3) Both (i) and (ii) are correct

(4) Only (ii) is correct

(5) Question not attempted

Which of the following/s is/are correct about

Sports Training?

(i) Sports Training is the basic form of
preparation of sportsmen.

(ii) Sports Training is a systematic process
extending over a long period.

Select the correct code -

(1) Only (ii) is correct

(2) Both (i) and (ii) are correct

(3) Both (i) and (ii) are incorrect

(4) Only (i) is correct

(5) Question not attempted

Body development in terms of relative status
with respect to one’s body weight is known as -
(1) Body Mass Index (2) Body Build Index
(3) Body Surface Index (4) Body Weight Index
(5) Question not attempted

47. for=fafad & 9 B G & wivEr dEifie

48.

49.

50.

w9 9 @I IRIRe wfafaftal & forv o

I B forg &1 T ofi?

(1) FrgR IRIRS Rieror Aerfdenay, AngR

(2) Bt sfow sife fEfea  To@e,
TGS

(3) &0 B9 UM YHRS Hsd, MARTE!

@) e I TNRe  fRrm EwemE,
TqiferaR

(5) giRa e

Ted & ) § f=fafaa § 9 eFar /9

B e T8l 8 /87

(i) TUe® AgBREEIRTT TYTRGARE D
PR BIAT B |

(i) TUfeH AZHAFEINTT AT & HROT BaT
=

el He g -

(1) (@) 3R (i) I TAT &

(2) ®aaT (i) 91 &

(3) (1) @R (i) < FE F

(4) Bad (i) TeT B

(5) srgaRa e

wer gfderor & IR § fA=feRaa § @ drewr /9

HUT FEl 8 /87

(i) @l ulierer Raernfsdl &1 JIRT &7 9o ®
z|

(ii) Tl UfeToT U &) 3l IF For areil
U e Ufihar 21

Hel qe g -

(1) Bad (i) ¥ &

(2) (i) 3R (i) ST FE &

(3) (i) 3R (ii) I Terd &

(4) Bad (i) 9T &

(5) srgaRa U=

o aafed & IR & To9 & e IRIRSD

faerg &1 fog wu § ST SIar 87

(1) 91 79 sso (2) ST fics seaw

(3) SIS TXBY sead (4) I1ST d€ Soa9

(5) srgaiRa geA
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51.

- 52,

53.

54,

55.

The first ever Indian woman weightlifter

“Karnam Malleswari” got bronze medal in

which Olympic Games?

(1) 1996 Atlanta, USA

(2) 2004 Athens, Greece

(3) 2008 Beijing, China

(4) 2000 Sydney, Australia

(5) Question not attempted

The Kraus-Weber Test was developed to test

which of the following?

(1) Cardiovascular endurance

(2) Minimum muscular fitness

(3) Maximum muscular strength

(4) Muscular endurance

(5) Question not attempted

When was ancient Olympic Games abolished by

Roman Emperor Theodosius?

(1) 396 A.D. (2) 395 A.D.

(3) 394 AD. (4) 398 A.D.

(5) Question not attempted

The first genuine attempt to suggest general

guidelines for the development of teacher
“education programmed in physical education in

the country and to ensure quality teacher

education, was made by

(1) Tara Chand Committee, 1948.

(2) All India Council of Sports, 1950.

(3) Sports Authority of India, 1988.

(4) The Central Advisory Board of Physical and

Recreation in 1956. '

...........................

(5) Question not attempted
Lakshmibai College of Physical Education (Now

51.

52.

53.

54,

e afys Wd § 9RT @ YW Aflken
HRIKId "BV Aoolgadl” o $IG UGH Sirdl
o7?

(1) 1996 3rcar=el, JUAN.

(2) 2004 vo=g, M

(3) 2008 ifSiT, =TT

(4) 2000 Rys, sitecferar

(5) 3rgeiRa Uz

HIT—dax T fe # | frgs uderr @ fg
AT TAT?

(1) Priéawper &

(2) =Fem AT fhew

(3) =rfdrmraw ARTUeig wfdd

(4) 7rueig &

(5) SR we

W Fa1e R gRT urdiF e wel
B B A T TAT?

(1) 396 A.D. (2) 395 AD.
(3) 394 AD. (4) 398 A.D.
(5) 3rgaiRa weA

33 H uNIRG Rrem # uenef R Renm @
fawra & forg wmma feenfder ggm ok
urgeqel Riers Rem g &= &1 ugen
o |

(1) arT @i \fAfa, 1948

(2) afgel R Wa gRug, 1950

2 H3) W @ w1988

o

E514) 1956 ¥ B ARG Td ARG TARPR

55.

EIS

(5) SrxiRe W
deias dicial &% BiRiea e (39

al

Lakshmibai National Institute of Physical ERIEIEIE NG < Bt o A R L G
Education), = Gwalior ~ was established TIDHI), TR BT AT o
1 : R V- S0 # g8 |
(1) 1967 (2) 1977 (1) 1967 (2) 1977
(3) 1957 (4) 1947 (3) 1957 @) 1947
(5) Question not attempted (5) srgaRa we
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56.

Which of the followings are correct about

WADA 2025 list of Banned substances?

(i) Stimulants are Prohibited only during
competitions.

(i) Caffeine is not Prohibited Substance.

(iii) Beta-blockers are prohibited In-Competition

only for Archery.

Select the correct code -

(1) Only (i) and (ii) are correct

(2) Only (ii) and (iii) are correct

(3) Only (i) and (iii) are correct

(4) All (i), (ii) and (iii) are correct

56.

WADA 2025 ufceferd ueri & @ & ar

f=foRad & @ oY g8 22

(i) S uerf daer uferaifiant & SR
gfoefa & |

(i) DB UH g sl FE 2

(iii) FeT—sdAtdd Bt dRGoN & foIg
gferafirar & ufeefRg &

wEl qE I —

(1) Daat (i) 3R (i) I8 &

(2) daa (i) 3R (i) FET &

(3) Baar (i) IR (iii) T 2

@) | (i), (i) 3R (i) T &

(5) Question not attempted (5) arg<IRd we
57. Which among the following pair is not correctly  57- f=faRad & B WIS BT AT WL T 22
matched? : (1) | 2oft — BMI 18.50 - 24.99
il A e
(3) Pre-obese - BMI 20.00 - 25.00 :Z: % AIeT ¥ 3 — BMI20.00 - 25.00
(4) Overweight - BMI > 25.00 aifer a5 — BMI 2 25.00
(3) Question not attempted (8) srgafa e
8. Which among the following is not a component 98- 2cer Reics fBfda fheaw &1 fA=foRaa &
of Health related physical fitness? T TP 3T 81 27
(1) Muscular Endurance (1) =Tt O
(2) Flexibility (2) e
(3) Muscular Strength (3) #Oef wifag
(4) Agility (4) Tuerar
(5) Question not attempted (5) srgaRa ued
99. Which of the following statements is/are correct ~ 99- @—@ & IR # f=ferRag & 9 d=«1/9
about Kho-Kho? BT HE © /87
(i) Length and width of Court: 27m and 18m 6) ?‘C‘maﬁ @aTg SR Frers: 27 Hew iR 18
E;;i))gl:icﬁmral lane %s 24m long (i) BT 3 24 A T B
ght of poles is 140 to 145cm
Select the correct code - %lgl,)rqgg %’lm 14091 145 A EXAr ©
(1) Only (1) and (111) are correct 1) W @) 3R (i) TS &
(2) Only (ii) and (iii) are correct (2) Bt (i) 3R (i) TE
(3) Only (ii) is correct (3) Daet (i) L 2 :
(4) Only (i) and (ii) are correct @) Baa (i) AR (i) T §
(5) Question not attempted (5) srgaiRa u=A
60. According to UGC 10 - Points Grading System 60 i di¥fi.vd. & afaid Q\Gﬁ?{ﬂ % ¥ fa=g yormelt
in CBCS, which among the following is not % IR FrAfaRad 4 & Sa1 SIeT |l 78l
correctly matched? 87
(1) O - Outstanding 10 (2) B - Good 7 (1) O-3A¥eE$T 10 (2 B-7E 7
(3) A*-Excellent9 (4 A -Very Good 8 (3) A*-Tadlele 9 @) A- TS 8
(5) Question not attempted (5) argaRRa u=A
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61. Match List-I with List-IT and select the correct

61. T GA-I1 9 femd vd 2y 77 @e § |

answer by using the code given below the lists — WEl IR g —

(A) Gymnastics (1) Diving (A) e (1) sTefd
(B) Aquatics (2) Malkhamb (B) T feaq (2) gI@H
(C) Traditional Exercise (3) Hiking (C) TRFIRE AR (3) BRMHT
(D) Adventurous Activity  (4) Roman Rings (D) wTEfis TR 4) 79 a7
Code - Pe :

1 (A)-@), B)-(1), (C)-(3), (D)-(2)
@) (A)-(2), (B)-(4), (O-(1), (D)-(3)
@) (A)-(1), (B)-(3), (C)-(2), (D)-(4)
@ (A)-(4), (B)-(1), (C)-(2), (D)-(3)

(1) (A)-4), B)-(1), (C)-(3), (D)-(2)
@) (A)-(2), (B)-4), (CO)-(1), (D)-(3)
3) (A)-(1), (B)-(3), (C)-(2), (D)-(4)
4 (A)-(4), (B)-(1), (C)-(2), (D)-(3)

(5) Question not attempted (5) eﬁﬁﬁa g9
62. Which Indian Olympian player has won two 2. YRei At Rgard! e sfiem # e
medals in a single Olympics in the history? Bl 3JAcifid F 31 9§ Sid & —
(1) Neeraj Chopra (2) P.V. Sindhu (1) SRS AT () qid Ry
(3) Harmanpreet Singh (4) Manu Bhaker (3) s g (4) 99 qrpv
(5) Question not attempted (5) 3R ued
63. The loudness of the noise is measured in ............. 63. IR BT WFAT oo SPTS F FTYT ST
unit. 2|
(1) mecible (mB) (2) necible (nB) (1) #f4aa (mB) (2) Af¥EeT (nB)
(3) oecible (oB) (4) decibel (dB) (3) anf¥ee (oB) (4) SRy9er (dB)
(5) Question not attempted (5) 3rgaRa e

64. In a balanced diet for a common person the 64 U& o™ =fdd & fou wgferd smerR &
percentage of carbohydrate, fat and protein FEEESe, a9 3R W &1 ufowa e
should be - BT AfRY?

(1) Carbohydrate-60% to 65%; Fat-not more W (1) FEERESE—60% A 65%; TE—25% 9
than 25% (less than 15% saturated) and :ys" Iere & (15% | 9 Hy@) iR

e
Protein—15% to 20%. e UEH—15% 9 20% |

(2) Carbohydrate—45% to 50%; Fat-not more
than 35% (less than 20% saturated) and
Protein—20% to 25%.

(3) Carbohydrate-55% to 60%; Fat-not more
than 25% (less than 20% saturated) and
Protein—20% to 25%.

(4) Carbohydrate-55% to 60%; Fat—not more
than 35% (less than 10% saturated) and
Protein—10% to 15%.

(5) Question not attempted

(2) FElEESe—45% A 50%; TE-35% 9
s T8 (20% W HA W@ iR
YEM—20% 9 25% |

(3) PElEESC—55% | 60%; IH—25%
Fed qE (0% W HH WIW) IR
UEF—20% | 25% |

(4) pEEESE—55% | 60%; TE—35% 9
HEd T (10% § FH Hgw) iR
UEE—10% A 15% | :

(5) SrgaIRd we
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65. NCTE Regional Centers are located at ........
(1) Jodhpur, Kolkata, Chennai and Ujjain

(2) Udaipur, Trivandrum, Chennai and Bhopal (1) STEIGR, PIABI, T 3R IooH

(2) SR, o, 9= &R Wure
(3) SR, 9, YaaR R Hurer
(4) STAYR, DITHaT, o3 R HUrer

(3) Jaipur, Bangalore, Bhubaneswar and Bhopal
(4) Jaipur, Kolkata, Chennai and Bhopal

(5) Question not attempted

(5) SrgaRa wed
66. The parameters of load volume for running will 66 77 & forQ oits dicyd & tRefier @r &FY?
be - (1) srafey
(1) Duration : : (2) orafer ol & I
(2) Both Duration and Distance & 3) smafy
(3) Frequency : e @ b
(4) Distance
(5) Question not attempted (5) Srgee we
67. Which one of the following is not a First aid  67- f=ifaiRad # & d=wr <o &M & oem &
measure for second degree burns? forT g SU=AR &1 SUy 98} &7
(1) Remove jewellery, belts and other restrictive (1) 784, dee 3R 3 ufdduTeTd Iy 8T <,
items, especially from around burned areas foey w0 ¥ TEH SN o gU gl b
like the neck. U H |
(2) Take painkillers to relieve the pain if (2) afe amaeys 81 A < ° qEd @ U <
necessary. aR® gaw o |
(3) Cover the burn with adhesive bandage. (3) et &1 fFuEe areft ugl | @ |
(4) Protect the burned person from further harm. (4) ot 8¢ @ft & iR fds =1f @ =91g |
+(5) Question not attempted (5) 3rgaiRa ue
68. Which of the followings are the effect of 68 famforRad # & IR el &1 ywrg &7
Diuretics? (i) 7= IcareT H qﬁg
(1) Increased urine production (ii) 3R w9 ¥ qor e H HHI
(1) Temporary weight reduction (iii) Ta3 B forw ARBT Toie
(iii) Masking agent for drugs W& T T — :
(S‘;c;le(c)t the .correctlc.:ode - () Baa ()9l Gi) ) &
nly (i) and (ii) are correct :
(2 All (i), (ii) and (i) are correct @ % (i), (i) IR (iii) weT &
(3) Only (i) and (iii) are correct (3) @aet (i) MR (iii) FE &
(4) Only (ii) and (iii) are correct @) Bae (i) 3R (i) FE €
(5) Question not attempted (5) argaRa u=A
69. Which of the following is not a Measurement? 69. f=forRad # | P AMgT =g 87
(1) Pass in individual paper (1) fdmTa yu= + Sdrorar
(2) Score by a researcher (2) MYPar gRT UTA b
(3) Temperature in Degree @) & & auEE
(4) Score given by an examiner after evaluation (4) SR gRABT & JATHT B I8 TRIEDH GRT
of answer book & T 3w
(5) Question not attempted (5) Ir<iRe U
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70. Russell-Lange Skill Test is a skill test of which 70

of the following games?

(1) Hockey (2) Volleyball

(3) Basketball (4) Soccer (Football)
(5) Question not attempted

71. The motor procedure for tackling a motor task is 71

known as -

(1) Style (2) Tactics
(3) Technique (4) Skill
(5) Question not attempted

72. During the Fartlek Method of training, what 72

should be the range of heart rate per minute?
(1) 150-170 (2) 130-150

(3) 140-160 (4) 140-180

(5) Question not attempted

73. Write the correct sequence of Ashtanga Yoga - 73.

(1) Samadhi - Yama - Asana - Niyama -
Pranayama - Pratyahara - Dhyana - Dharna
(2) Asana - Yama - Samadhi - Niyama -
e Pranayama - Dhyana - Dharna - Pratyahara
= (3) Yama - Niyama - Asana - Pranayama -
Pratyahara - Dharna - Dhyana - Samadhi
(4) Yama - Niyama - Pranayama - Pratyahara -
Asana - Dhyana - Dharna - Samadhi

(5) Question not attempted

74. Which is wrong combination of Warrior and 74

Weapon?

(1) Yudhisthir - Pinaka (Bow)

(2) Shivaji - Bhavani Talwar (Sword)
(3) Krishna - Sudarshan (Chakra)

(4) Arjuna - Gandiva (Bow)

(5) Question not attempted

75. The Pupil-Teacher ratio for physical education 75

recommended by experts in India in 1956 was -

el ﬁ?’ﬂ.ﬁ&-‘m feforiaa & @ fba

e @ forg 27

(1) gy (2) dfefdia

(3) gl (4) HTpR (Bedia)
(5) srEiRa ue

U Hiex fafe — f59H U Aiek &1 31 Savd
faar ST 8, 99 @1 $Ed 80

(1) wEd (2) SfFeam
(3) dd1® 4) R
(5) 3rgIRa ue

2T @ wides fafy & SR g TR @ ufy
e ¥ @& 89 @nfey?

(1) 150-170 (2) 130-150
(3) 140-160 (4) 140-180
(5) raRa ue

I AT HT Aal HH forg —

(1) warfe — 79 — e — s — yromE —
JRER — &I — gRUT .
(2) 3rg — 79 — gAY — 99 — gomE —
[ — IR — TR

(3) ¥9 — FrgH — I — UV — YRR
— YR — & — FAM

(@) 7% — T — A — YRR — S
— & — YR — FHY

(5) argaRa ued

AgT 3R R &1 BIFET Ao /ST Terd

87

(1) gRfs — fomme (agw)

(2) el — w@r doar

@) FT — FIT (%)

(4) 3r5{1 — TS (&)

(5) 3rg<IRa U

Rd # faawst 7 aiRe Rer § sE-—Rrw

3raTe b1 RypiRen |7 1956 F @ ofi?

(1) 300: 1 (2 190: 1 (1) 300: 1 (2) 190: 1
(3) 250:1 ) 150: 1 (3) 250: 1 @ 150:1
(5) Question not attempted (5) IR e

76. What is the chemical name of Vitamin B2? 76. fqerfgs 12 &1 YEte T Fr 27
(1) Retinol (2) Niacin (1) fera (2) ot
(3) Thiamin (4) Riboflavin (3) grafaq (4) YT
(5) Question not attempted (5) SraRa ued
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77. Which one of the following characteristics of 77 f=feiRaa & | Ta ulwwr @& SR S
sports training is not true? faemar |a& 781 &7
(1) Sports training is systematic and planned. (1) @el uf3err egierd v AoHEg ¢ |
(2) Sports training is scientific. (2) @a yfdreor asie 2|
(3) Sports training is not an individual process. (3) wWar ufdteror &g afthara ufhar F81 2|
(4) Sports training is an educational process. (@) w1 ufdreror v Sterfire ufhar 2
(5) Question not attempted (5) rgaRd e
78. What are micronutrients? 78. {55 eAUINS BBl Il 27
(1) Protein and Fat e (1) 9ET v9 g
(2) Protein and Carbohydrates N1~ (@) 9dH td pEREscH
(3) Carbohydrates and Fat (3) wEfEggcd U9 a1
(4) Vitamins and Minerals (4) foer™= vd @fw <@
(5) Question not attempted (5) a@aﬁ'a g9
79. What is the ‘SWAYAM’? 79. wqIq ((SWAYAM) T 87
(1) Free self-coaching scheme for sports. (1) Wal &I g9 @I Wi |
(2) Free degree courses exam portal. (2 fres S0 o o i |
(3) Own pace data handle website. (3) wHATeId STT oAt JawIsE |
(4) Free online education website of Govt. of (4) aRd WHR DI FEed AT R
India. CERIEA
(5) Question not attempted (5) srgailRa ueA
80. To celebrate ‘June 21° as the ‘International Yoga ~ 80- '21 S’ & ‘3cRISIg I feaw’ & w9 & #M
Day’ the proposal was approved in United P YW B A T AT H &9 Hopdl €
Nations General Assembly on - Te? :
(1) 19" November, 2014 (1) 19 ¥awR, 2014
(2) 11" December, 2014 (2) 11 feHwR, 2014
(3) 11" November, 2014 (3) 11 7awR, 2014
(4) 19" December, 2014 4) 19 fewR, 2014
(5) Question not attempted (5) SreIRa we
81. Which of the following pair is not correctly 81- f=faiRad # & &Y s &1 el Me= =g
matched? foram T 27
(1) Mesocycle — Yearly cycle (1) = — 9T Th
(2) Microcycle — Weekly cycle (2) dgia®m — ATIRE dHh
(3) Training Session — Daily plan (3) ufderr w5 — gfafed w=
(4) Macrocycle — Longest training cycle (4) Ypas — I 7T RO T%
(5) Question not attempted (5) srgalRa ueA
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82. Match List-I with List-Il and select the correct ~ 82- F&i—1 &1 GA-1I ¥ femsy don Ry 77 @
answer using the code given below - e S| OgH -
List-I -1
(A) Viral (31) arRe
(B) Bacterial (@) deIRTa
(C) Protozoal (4) Werstere
(D) Helminthic sehon G RGIERIRED
List-IT : E'i;i: 11
(i) typhoid =l (§) T =R
(ii) hepatitis E (i) eversfey g
(iii) roundworm (iii) 7TTeT Efﬁ[
(iv) amoebiasis (iv) ST
Code - o —
(1) (A)-(i), (B)-(i), (C)-(iv), (D)-(iii) (M @)—Gi), @), @)—(v), (@)—(iii)
(@) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i) () @1)—(iv), @)—(ii), (@)—(i), (@)—(@)
(3) (A)-(), (B)-(ii), (C)-(iii), (D)-(iv) (3) @E)—>), () (i1), (F)—(iii), (¥)—(iv)
(@) (A)-(iid), (B)-(iv), (C)-(i), (D)-(ii) - (@) (@) —(ii), @)—(iv), @), &)—(ii)
(5) Question not attempted (5) i g9
83. Oral Polio Vaccine (OPV) was described by 83 3iker iferal dorvfie (@) &7 avfs wfag &
Sabin in - g1 &g fhar Tar?
(1) 1957 (2) 1987 (1) 1957 (2) 1987
(3) 1977 4) 1967 (3) 1977 (4) 1967
(5) Question not attempted (5) srg<iRa U
84. The Body Build Index is measured with which ~ 84. i<l fics geaa &1 =1 & & 5w w3 & W
of the following formula? ST 87
(1) (Height in m)?/ weight (Kg) x 100 M) (Garg Arex #2 /9@ @Fehum) x 100
(2) (Height in cm)*/ weight (Kg) x 100 2) (=g AA. JP /7o @Feom) X 100
() (Height in m)*/ weight (Kg) x 50 @) (Farg e ¥ /awr (fherm) x50
(4) (Height in cm)* weight (Kg) x 50 @) (F=rg A H? /7o @ramm) x50
(5) Question not attempted (5) orgeRa uee :
85. Following are the principles/criteria for Good 85 gﬂ:ffé‘l@ﬁ U e W B Rigid /Arcs
test — =
(a) Precision and accuracy (a) QIQ?[QEII 3R TH'cﬁ'CF:'HT
(b) Reliability (b) foege-irmar
(c) Objectivity (c) agfsaar
(d) Validity (d) ST
(e) Administrative feasibility (e) NI TgeTddr
Arrange the individual principles in descending R 2y U Rigidl /amest & 39 e &
order of their importance - IR R Ted HH § ol (Sa1eT | FH)
(1) (@)—=(b) =(c)—(d) —(e) (1) (a)—=(b) =(c)—>(d) —=(e)
@) (e)>(d) =(c)—(b) —>(a) (2) (&)=(d) =(c)—(b) —(a)
@) (d)—(e) =(c)>(b) >(a) @) (d)>(e) =(c)=(b) >(a)
4 (e)—(d) 5(b)—(c) >(a) @) ()—=(d) =(b)—(c) —(a)
(5) Question not attempted (5) SrgaiRa ue 3
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86. Which of the following is the host city of Winter ~ 86. fmfoiRad § | HI=a w18} 2034 & INddrei=
Olympic Games 20347 ANeifd Well BT HolgHT BT 87
(1) Salt Lake City-Utah, Canada (1) Hree @ RE-ger, Fre
(2) Salt Lake City-Utah, France (2) dee o Rid—er, wid
(3) Salt Lake City-Utah, Switzerland (3) wree o RAcger, Racurels
(4) Salt Lake City-Utah, USA (4) e o RIS, JTET,
(5) Question not attempted (5) argaRRa e
87.In which year the Central Government 87 %% W&R - fbd a¥ "By ANIRS Rrerm iR
established “Central Advisory Board of Physical ARG GARRR IS &7 9T 317
Education and Recreation™?
o
(3) 1952 (4) 1956
(5) Question not attempted (5) srgaRa e
88. For the muscle hypertrophy, what should be the ~ 88. #iHuU=l arfcrglg & forg, Waar Far &9 =Tf2y?
2’11;9171;“;’;(7 B (1) 70-80% (2) 80-90%
i (o] - 0
(3) 90-95% @) 60-70% o i
(5) Question not attempted () SFFIRT 7=
89. The phenomenon by which one’s expectations of - 89- g8 He=T fSrad gRT fHul Ut & ufa wfdq
a substance determine the body’s response to it B IUHY SHS Uld IRR HI Glafhar &l
is known as - - fiRa &l €, S T Fer Sfrar 27
(1) Ergogenic effect (2) Side effect (1) Tieife shae (2) Hgs shac
(3) Placebo effect (4) Matching effect (3) =T Shac (4) HRAT sHac
(5) Question not attempted (5) argaRd we
90. In which year the Government College of 90- ggxEIE # W&RI IRIRSG R weifdereg a5t
Physical Education, Hyderabad was established? AT fe 9y gs off?
(1) 1933 (2) 1931 (1) 1933 (2) 1931
(3) 1934 ~14) 1935 (3) 1934 (4) 1935
(5) Question not attempted (5) argIRa ueA
91. Which of the followings are correct about 91 NEP 2020 & Woa—Udlda RET & IR H
Sports-integrated learning of NEP 2020? frrfalad # 9§ o9 HoF T8 87
(i) Help students adopt fitness as a lifelong (i) BTHT I 3TSilas giedir & wu H fheayq
attitude. U H HGG BT |
(ii) To achieve the related life skills along with (ii) fhesa & WR & -1 Haed S|
the levels of fitness. P BRIl HAT |
(ii1) To achieve excellence in sports. EII-E (iii) et H Jeptedl BRI BT
Select the correct code - EE w5 e T -
(1) All i), (ii) and (iii) are correct (1) T (i), (ii) 3 (i) Y &
(2) Only (i) and (iii) are correct (2) Faat (i) AR (iii) FE &
(3) Only (ii) and (iii) are correct (3) Baat (ii) iR (iii) Fa &
(4) Only (i) and (ii) are correct (4) Baa (i) 3R (i) T2 &
(5) Question not attempted (8) argailRd e
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92. Friedel Skill Test is a skill test of which of the ~ 92- Wisd Repel Wer o § & fbwy @a & forg
following games? 4
(1) Kabaddi (2) Hockey (1) wags) (2) gisr
(3) Volleyball (4) Football (RCIRICI] (4) gedict
(5) Question not attempted (5) SrgaRa we :
93. Which among the following is not a test item in - GIFET d@dcdid oe del # Bedr o
Basic Basketball Skill Test of Johnson 3geH 8l §, W & Mg qrebedia Rad
Basketball Test Battery? o & forg g 27
(1) Basketball Dribble Test (1) Irdhedid fgad e
(2) Basketball Throw for Accuracy (2) grpcdla o BR gagR
(3) Jumping and Throwing Test (3) ST Td ATST e
(4) Field Goal Speed Test @) wics Tia We e
(5) Question not attempted (5) IgaRa U
94. Full form of “AAHPERD” test is .............. - “AAHPERD” URI&T0T &T JUT 91 ... S B ]
(1) American Amateur for Health, Physical (1) ware, aNIRS fRIen, F R IR T &
Education, Recreation and Dance. foru SR sreraardt (Fhifean) |

(2) American Assurance for Health, Physical (2) wrem, ARG T, FRSH IR T &
Education, Recreation and Dance. fore RS 3R | ‘

(3) American Agreement for Health, Physical () varey, INIRS e, FARSH R T &
Education, Recreation and Dance. fore smmReT wwsiar |

(4) American Alliance for Health, Physical (4) ¥aey, TIRS fRien, TR iR T9 B
Education, Recreation and Dance. fore smRe= wfer (germe) |

(5) Question not attempted (5) 3rgaRa weA
95. Which of the following/s is/are correct about - gRhedldl & IR H fAEfoiag § @ DT /A
Basketball? e 8 /87
(i) Violation is an infraction of the rules. (i) Seoied, FIEl FT Sooigd 2 |
(ii) A closely guarded player must pass, shoot or (ii) U PYI! TENGR RISl oY 3 Wbs B
dribble the ball within 3 seconds. - IR T BT U, I[E AT fyEe bR ARy |

(iii) A team must bring the ball in the front court (iii) QEB < BT 8 APs D WK g B G
within 8 seconds. % PIc § AT AMRY |

Select the correct code - ol el He I —

(1) Only (i) is correct e (1) Bad () EE ®

(2) Only (i) and (iii) are correct (2) Taa (i) 3R (iii) FET &

(3) Only (ii) and (iii) are correct (3) dadt (i) 3R (ii) T &

(4) Only (i) and (ii) are correct (4) Daa (i) 3R (i) T &

(3) Question not attempted (5) argaRa ue=
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96. Which of the following/s is/are correct about 96 vorcifer # ammell @ oMl & dr A
dimensions of hurdles in Athletics? fr=faRed § 9§ s/ 98 2 /87
(i) Height of hurdle for 110m men 1.067m, (i) 110 #ex goul & fog qrem & $a1E 1.067
weight more than 10kg. HieR, g 10 fbedum™ @ s |
(ii) Height of hurdle for 100m men 1.067m, (i) 100 #Iex gouT & forg arenm & S8 1.067
weight not more than 5kg. HIer, 994 5 fhaum 9§ afd 78 |
(iii) Height of hurdle for 400m men 0.914m, (iii) 400 Hex GO & forg ar=m @ S 0.914
height of the top bar 70mm. Aex, Y ugt @ SHarg 70 AL |
Select the correct code - el & g —
(1) Only (iii) is correct (1) Pael (iii) TE &
(2) Only (i) and (ii) are correct (2) daar (i) 3R (i) ¥ &
(3) Only (i) and (iii) are correct (3) Baa (i) IR (i) & &
(4) Only (ii) and (iii) are correct (4) daa (i) 3R (iii) T &
(5) Question not attempted (5) srgaRa ueA
97. Which of the following are test items of 97- Bfell & Yol & Y INDIANA Hex fresw
INDIANA Motor Fitness Test, for the College e @ =faRad § 9§ S99 9deor sirges 22
men? (1) go—ard, Bed M, aféee ou sk LR
(1) Pull-ups, Straddle chins, Vertical Jump and g oy
Standing Broad Jump ' (2) qor—ar, o e, SR s WY ok
(2) Pull-ups, Floor push-ups, Standing Broad e
Jump and Vertical Jump
(3) Pull-ups or Straddle chins, Floor push-ups () gor—or A Beew R, ek g aﬁ?
»nd Vertical Jump or Standing Broad Jump afewa sf a1 TR dfs S
(4) Straddle chins, Floor push-ups, Standing @) ¥ea o, welk RIS, Wi dfe S
Broad Jump and Vertical Jump 3R gfdeper Sy
(8) Question not attempted (5) arg<iRe we
98. Which of the following is the Cooper 12 minutes 98- B 12 fAe ¥ € ¥ VO2max &' a9 &
run test equation for measuring the VO2max? e =t & ¥ o9ar Tdiexor 22
(1) ;;;gzg (Distance in Miles in 12 Min.) — E‘a" 2‘1) 112878 (12 e & @t 3 @) 359712
(2) 359712 (Distance in Km. in 12 Min.) — " 35972 (12 fae # foarier § @) -
11.2878 11.2878
(3) 11.2878 (Distance in Km. in 12 Min.) — (3 11.2878 (12 e # fFarfier & ) —
@) i:% (Distance in Miles in 12 Min.) — ok
11.0878 ' (4) 35.9712 (12 fAe & e 5 ) — 11.2878
(3) Question not attempted (5) SrgaRd e
99. From training point of view competitions canbe 99 Uf¥weror 3 gfte & wfoaifiraret & fbam yaRi
classified into how many types? # giftea far o gear 87
(1) Three (2) Two (1) d= ) 3
(3) Four (4) Five 3) Im (4) ufg
(5) Question not attempted (5) s ueA
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100.

101.

102.

© 103.

104.

105.

106.

After Fatigue, during recovery phase the
recovery doesn’t end at pre-activity level but it
shoots pre-activity level, this phenomenon is
known as -

(1) Super Compensation

(2) Super Recharging

(3) Super Adaptation

(4) Super Recovery

(3) Question not attempted

The study of human size, shape, proportion,
composition, maturation and gross function is
known as -

(1) Kinanthropometry (2) Health Education
(3) Kinesiology (4) Somatotyping

(5) Question not attempted

The ability to maintain the maximum speed of
locomotion for maximum duration possible is
known as -

(1) Acceleration Ability

(2) Speed Endurance

(3) Locomotor Ability

(4) Movement Speed

(5) Question not attempted

Who was the founder of Y.M.C.A. College of
Physical Education at Madras?

(1) P.M. Joseph (2) John Dewey

(3) T.P. Nunn (4) H.C. Buck

(5) Question not attempted

Which of the following is not a determining
factor for flexibility?

(1) Endurance

(2) Strength

(3) Ligament of the Joint

(4) Co-ordination

(5) Question not attempted

re=resta

Swachh Bharat Mission was started in - -
() 2010 2 2015 e
(3) 2014 (4) 2018

(5) Question not attempted

According to NCTE-2014 notification, what is
the maximum duration for completing M.P.Ed.
(2 Years) Programme?

101.

102.

103.

104,

105.

106.

TR WX R A 8 B 8, 9fcd
T wav | W st B 39 "e
Bl SATar 87
(1) goR Ha3rmas
(2 g Reaffn
@) YW FRe
(4) g Read
(8) 3r=IRT ge
B BT ALY T HEATT 27

]

(1) fop=TRITameT (2) wreey fIrem

(3) wTEARMAST (4) FHCeEUT

(5) argIRa U=

Jiftrpad w9a 3mafr & forv sifSeaw wfy s+=w

G DI STHAT DI FIT HET ST &7

(1) wRoT &Har

(2) wfer FAE=Teierar

(3) SATPMECER &

(@) qae W (TRY)

(5) IR U

o H IR.UHAEIT Bie 3% fBiied
TS & RIS DI A?

(1) droq. Sie% (2) S <41

(3) drdl. == (4) gL 95

(5) SrFaIRa o

frafalRed § 9 s e &1 R
B dTell PR a1 27

(1) \g-Terfaa

(2) Trpa

(3) SiIe 7 fommie

(4) 999

(5) arg=iRa wed

e HRd ATE T g —

(1) 2010% (2) 2015

(3) 2014 # (4) 2018 #

(5) srgeiRe ue

TRIIEIE—2014 B AR & AR THHLTS.
g qy) BRI QT B B e Srafdy
2

(1) 3 Years (2) 5 Years (M 3 a8 (2 5 a9
(3) 4 Years (4) 2 Years (3) 4 g¥ (4 2 9y
(5) Question not attempted (5) ergaRa ued
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107. Anorexia Nervosa is related to -
(1) Cerebral Disorder
(2) Eating Disorder
(3) Sleeping Disorder
(4) Nervous system function
(5) Question not attempted

108. What is the ciameter of outer circle of circular

target for Johnson basketball throw for passing
accuracy test?
(1) 38" (2) 58"
(3) 48" (4) 28"
(5) Question not attempted
109. As:soon as the coach is convinced that there are
signs of overloading; which one of the following
things should not be done?
(1) The training should be restarted with a
revised plan. '
(2) Competitions and trials to be maintained.
(3) Meeting with parents and other important
persons be arranged.
(4) The training load should be considerably
reduced. _ '
(3) Question not attempted
110. The ability to do sports movements with high
speed under condition of fatigue is known as -
(1) Speed Endurance :
(2) Strength Endurance
(3) Maximum Endurance
(4) Explosive Strength
(5) Question not attempted

111. For 3000m steeplechase event there shall be -

(1) 30 hurdle jumps and 6 water jumps
(2) 24 hurdle jumps and 5 water jumps
(3) 28 hurule jumps and 7 water jumps
(4) 22 hurdle jumps and 4 water jumps
(5) Question not attempted

107. qeRforeran et R 27

108.

109.

110.

111.

(1) Ixga PR

(2) @™ &1 faer

(@) ¥ & dor

(4) ¥ 93 & B

(5) argeiRa ue

G a dRBedid O @ Geldpar urg ey §
IIPR e S q188] I B T T BIIT?
(1) 38" (2) 58"

(3) 48" (4) 28"

(5) SrgailRa e

S 1 BIE ATER B ST & P NavellfSy &

Had 8 fFre=faRed § @ s o 78 B
=IRY?

E‘.&E(U yfRreror BT RN AT B AR g IR

=

[CRIBS I :

(2) yffiran iR ere a9TT /g |

(3) AT 3R o= wEwEyel @feal &
95 o1 g fHar S|

(4) UREAIT ST YR BT &F fbar S =Ry |

(5) 3reiiRe we

ghrge b R # =g fy ¥ wa wfafal

B DT AT FIT HEAT 27 :

(1) wrs &4

(2) g &

() s= &

(4) favpres wifed

(5) arxIiRe we

3000 #1. Rigeray gdc # J B § —

(1) 30 9T % TG 6 UM & HW G

(2) 24 9T B TG S U B FR G-

(3) 28 9TE B Td 7 UM B HW dHT

(4) 22 9181 HE TG 4 U B SR B

(8) IrgaIRa uwA

M12.0ndia’s most prestigious institution “The 1129Rg @1 ¥e§ wffeq wem V@ ‘@
National Institute of Sports, Patiala” was TR, ufeamar’ av ........ H zenfad fam T
established in the year .......... o | :
(1) 1981 (2) 1961 (1) 1981 (2) 1961
(3) 1971 (4) 1991 (3) 1971 (4) 1991
(5) Question not attempted (5) 3rIRe WA
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113.

114.

115.

Which of the following/s is/are correct?

-(1) Physical Fitness is sum of total five motor
abilities i.e. Strength, Speed, Flexibility.
Endurance and Agility.

(i1) Improvement and maintenance of the
Physical Fitness is the most important aim of

sports training.

- Select the correct code -

(1) Only (i) is correct

(2) Only (ii) is correct

(3) Both (i) and (ii) are incorrect

(4) Both (i) and (ii) are correct

(5) Question not attempted

The process of evaluating the degree to when a
test measures the factor for which it was
designed is called -

(1) Norms

(2) Reliability

(3) Validity

(4) Objectivity

(5) Question not attempted

Which of the following are training and
competition demands?

113.

114.

113,

Fr=foReaa 5 & @FwT/4 98 & /87

(i) TINIRS fhe=’T |/t g Alex efamali Jmr
aifa, e, ST, FEeid SR Aderdr
BT 1T B | :

(ii) TTHIR® fe"d § §uR 3R WRaRR ©d
GTRIEToT BT e HETIYUl TR ¥ |

(1) &ad (i) ¥21 8

(2) @ad (i) ¥8 =

(3) (i) 3R (i) ST Teia &

(4) (i) 3R (ii) ST ¥ &

(8) arRd U

U Hedid Ulshar SraH ud wiev el dRa

@1 99 &l 9 wuar & Rrae forw s9 feoea

'%mw%,mmﬁ%‘?‘

(1) gFEs

(2) fagaa=aar

(3) Jerar

(4) frerarare (qws)

(8) =i U

frafoRea & ¥ ®F-—o=9 u¥eor wd
gfernfirar @1 /T 872 :

(i) Intensity (i) cferar
(i1) Supercompensation (11) WW
(iii) Volume L E (i) dfeH
(iv) Quality of execution of exercise B (iv) M $ e @ qerer
(v) Type of Training Means (v) URTET | BT YhR
Select the correct code - : Hel Be T —
(1) ), (1), (iii), (v) (2) (1), (i), (v) (1) (1), (1), (iii), (v) (2) (1), (i), (v)
(3) (ii); (iid), (iv), (v) (@) (1), (1ii), (iv), (V) (3) (ii), (1id), (iv), (v) @ (D), (ii), (iv), (v)
(5) Question not attempted : (5) argiRa ued :
116. “World Health Day” is celebrated every year 6. fdvg ey fRa¥’ &R A v Gl
Bt . AT ST & |
(1) 6™ April (2) 7™ April (1) 6 3de (2) 73
(3) 8™ April (4) 5% April (3) 83l (4) 53
(5) Question not attempted (5) srgaRa ye= :
117. Which of the following is not a test item of 117 fS=feiRad & & BT AAHPERD g&bcdid o
- AAHPERD Basketball Test? BT JRIETT HTgSH B 87
(1) Basketball Speed Shot Shooting Test (1) grpedia ¥Ts i YT S
(2) Basketball Passing Test (2) gRpedial T e
(3) Basketball Defensive Movement Test (3) Irpedrer fRwi¥ig Jade o
(4) Basketball Handling Test (4) arpedia gl ove
(5) Question not attempted (8) SR we
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118. Which among the following is not an example of
recognition based objective test item?
(1) Recall test item
(2) Matching test item
(3) Multiple choice test item
(4) Alternate choice test item
(5) Question not attempted

119. CPR can help to save life during Cardiac Arrest.

What is CPR?

(1) Chest Pulse Respiration

(2) Cardiopulmonary Resuscitation

(3) Cardiopulmonary Repair

(4) Cardiac Permanent Recreate

(8) Question not attempted
120. Physiological and psychological demands placed
on the individual through a motor stimulus -
(movement) resulting in improvement and
maintenance of performance capacity is known
as -
(1) Adaptation
(3) Load Intensity
(5) Question not attempted

(2) Training Load
(4) Periodisation
121. The cycle is usually divided into preparatory,
competition and transitional periods known as -
(1) Macrocycle

(2) Mesocycle

(3) Micro and Meso cycle @
(4) Microcycle ;
(8) Question not attempted

122,

Seat of intellectual awareness is obtained

(1) Anahata Chakra  (2) Muladhara Chakra
(3) Vishuddhi Chakra (4) Sahasrara Chakra
(8) Question not attempted

123. Which of the following European country first

introduced Gymnastics class in its school

curriculum?
(1) Denmark (2) Sweden
(3) Russia (4) England

() Question not attempted

8. frfafad 4 1 aiar amaar el axfs
UVIETOT 3TTSTH BT IEIERY 8] &7

(1) BT QR 3rgey

(2) e gdierr angey

(3) sgfaadl fawea wevr amgeH

(4) Tofoqs fabey Tl amgeH

(5) srgalRka g

LGSR R & SR & SRE o 991 gl
21 Qe a7 ¥

(1) T gow RGYE

(2) FISTTAE RaRiees

(3) TR RYR

(4) FH1fSad waEF< VPive

(5) 3rfaIRe ue

Aler IO (FolEel) & WRAW ¥ =R W
IRTHERY Je3 & ¥ quR iR IR
BIAT B, FIT eIl 27
(1) srgaer

(3) ¥R rgar

(5) srgaRa e

6 a% @1 AHAR R I, yRrnfrar ik
HBHUTBT Aty F fermfore fabar wmar 22
(1) Heprass

(2) =

(3) gew 3R #4T °H

(4) qewash

(5) Irg=iRa U

119.

120.

(2) yf3reror R
(4) srafereor

121.

122,

G) sgaRa v1

fefolead 4 4 5w R <91 3 999 umer
AT ¥Hel UigdhH # iR wo I%
Cals

(1) S8
@) w9

(5) IrgaiRa ue

123.

(2) e
(4) sois
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124.

125.

126.

127.

128.

A adult person executing muscular work needs
................... calories.

(1) up to 4000 (2) up to 1500

(3) up to 2000 (4) up to 2500

(5) Question not attempted

Which of the following/s is/are correct about

B-Blockers?

(1) They reduce the effects of stimulation by the
non-sympathetic nervous system.

(ii) B-Blockers can enhance performance in
sports such as shooting events. b

(iii) B-Blockers can enhance performance in

golf.
Select the correct code -

b I

(1) Only (ii) is correct

(2) Only (i) and (ii) are correct

(3) Only (i) and (iii) are correct

(4) Only (ii) and (iii) are correct

(5) Question not attempted

Great Universities like Taxila and Nalanda
developed during In this period
there was a happy correlation of the physical,
intellectual and aesthetic training at these centers
of learning.

(1) Later Hindu Period (320 A.D. - 1000 A.D.)
(2) Vedic Period (2500 B.C. — 600 B.C.)

(3) Early Hindu Period (600 B.C. — 320 A.D.)
(4) Medieval Period (1000 A.D. - 1757 A.D.)
(5) Question not attempted
“Night  blindness” is a
.................... deficiency.

(1) Vitamin C (2) Vitamin A

(3) Vitamin D (4) Vitamin B

(5) Question not attempted

What was decided in the World Health
Assembly to launch a movement in 19777

(1) Humanity for all by the year 2000

(2) Happiness for all by the year 2000

(3) Hygiene for all by the year 2000

(4) Health for all by the year 2000

(5) Question not attempted

signh  of

124.

125.

126.

127.

128.

.......................... DANT B ATILIBAT BTl B |
(1) 4000 T (2) 1500 7

(3) 2000 TP (4) 2500 T

(5) SrgRka uwA

p—<diid & ar # f=forlRaa # & dfwwn /@

ST FEl /77

(i) 9 IR—ETHT AT dF R Sl B
WGl BT BH Y © |

(i) p—=ifmd YT W Wall § yeee BT qa7

HEHA B |

(iii) B—<Afpd Me® # Uge B 937 e & |

wel 9 I -

(1) gt (i) ¥E 2

(2) ®aer (i) IR (i) FEr &

(3) daat (i) 3fR (iii) T &

4) dae (i) 3R (iii) TE &

(5) SrgaiRa g

& IR e gu) 9 s@afr 3§ e

% 39 Dal § UNIR®G, difge 3R died ufdeor

B [P JEq Aede o |

(1) qrg &1 f&g s1ar (3208 — 1000 )

(2) afes F1a (2500 5. Td — 600 . Ud)

3) yrM® f&g w1t (600 €. gd — 320 E)

(4) et (10008, — 1757 )

(5) srgaRa

50| | R B FH B Fbd B |

(1) ferfdm <& () faerf®= g

() fFerfiT € @) faerf= €

(5) argaRa weA _
fdvg WrRed 991 9 1977 & 9 3 &l
AR B &1 oty formr?

(1) & & forv w=aar a9 2000 96
(2) ¥ & forg el av 2000 d®

@) @t & fory wr=war a¥ 2000 T@
@) wf & forw wrea a¥ 2000 TF

(5) FgRa U
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129.

130.

131.

132.

Which of the followings are correct about

Glycemic Index (GI)?

(1) Before exercise, low-GI foods would be

preferred.

(ii) During exercise, high-GI foods should be an
advantage.

(ii1) During recovery from intense and prolonged
exercise, foods with high GI should be
preferred.

Select the correct code -

(1) Only (i) and (iii) are correct

(2)- Only (i) and (ii) are correct

(3) Only (ii) and (iii) are correct

(4) All (i), (ii) and (iii) are correct

(5) Question not attempted

Which of the following/s is/are correct?

(1) In sports training, load is not always given to
improvement but also for maintenance and
stabilisation of performance capacity.

(i1) Load is also given some time for the purpose
of accelerating the recovery process.

Select the correct code -

(1) Only (ii) is correct

(2) Both (i) and (ii) are correct

(3) Both (i) and (ii) are incorrect

tME

(4) Only (i) is correct
(5) Question not attempted

Which among the following pair is not correctly

matched?

(1) Compound fracture - a closed fracture .

(2) Impacted facture - two ends of a bone get
driven into each other

(3) Comminuted fracture - bones broken into
several pieces :

(4) Greenstick fracture - occurs in young infant
and children

(5) Question not attempted

What is another name of Rabies?

(1) Myophobia (2) Hydrophobia

(3) Cryophobia (4) Lyophobia

(5) Question not attempted

129.

130.
() @ ke H, e W guR @ fog o

131.

132.

e # & Py e s (dioe)

e 87

(i) I ¥ UEa, W—Gﬁaﬂs‘@mqaﬁaﬁ
urIfAdsar € ST =Ry |

(i) TR & TR, STa—oiane @rer gl @1
& BT A BT |

(iii) TET iR WY TG Th IRH § ST B
SR, Sed SieE aret @ el @y
grafiear < ST =Ry |

el e g —

(1) aat (i) 3R (iii) G &

(2) ®aer (i) 3R (i) T &

(3) daa (ii) 3N (iii) F& &

@) = (i), (i) 3R (iii) oy &

(5) srgaRa e

fF=faRea § & sar/d w8 & /8

eI four S B, afos yevl+ amar & woR
IR Rerdidxor & forg +ff fRar ey &

(i) Repad ufshar § oot o & Seew & o
Y 999 & forw s faar sy 2

el oe T —

(1) ®ad (ii) 98T =

(2) (i) 3R (i) AT Y &

(3) (i) 3R (ii) I Tord &

(@) Haer (i) 9E B

(5) SrgaRa ue=

ﬁw%ri@aﬁﬁaﬁwmwﬁﬁaﬂa%?

(1) AT JAReHT — T §8 Bar

(2) yfad SiRerfT — se& & &1 AR w5 R
4 99 g

(3) famfosd aifendT — s%@aﬁaﬂao—s‘gm"r
H geAr

4) M Red aReniT — B Ry vd q=t 3
BT

(5) Srg=iRa U

IS BT TERT M T 87

(1) s (2) BTgSrBIaT
(3) wraTeIfIaT (4) T
(5) SrgxiRe we
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133.

134.

135.

136.

Following are the in Curriculum

Evaluation -

(i) Defining the standards

(ii) Investigating the performance and data
collection

(iii) Formulating recommendation

(iv) Feeding recommendation

(v) Synthesizing the results

Arrange these curriculum evaluation steps in

proper sequence -

(1) (i), (iv), (v), (ii), (1)

(2) (1), (i1), (iii), (iv), (v)

(3) (1), (ii), (v), (iii), (iv)

(4) (iv), (iii), (ii), (1), (v)

(5) Question not attempted

Which of the following/s is/are correct about

effects of Basic Methods of Conditioning?

(i) In Continuous Method improves basic

steps

endurance.
(ii) In Intensive Interval Method improves
general endurance.
(iii) In Extensive Interval Method improves
speed endurance. |
Select the correct code -
(1) Only (ii) and (iii) are correct
(2) Only (i) and (iii) are correct
(3) Only (i) and (ii) are correct
(4) Only (i) is correct

of Bl

(5) Question not attempted
The Sports Competition Anxiety Test for
Children (SCAT-C) in the year 1977 was
developed by -

(1) Allen (2) Miller

(3) Nelson (4) Martens

(5) Question not attempted

An activity voluntarily engaged in during leisure
time and primarily motivated by the satisfaction
of pleasure is called
(1) Fitness

(3) Recreation

(2) Sports
(4) Games
(5) Question not attempted

openeqpeng
e
i

133.

134.

135.

136.

fre=fRad IreasH Heuidd & aROT & —

(i) AFHT (FR) DI IRAINT BT

(ii) Tee= P W UG 3fhs FHeol Bl

(iii) STFIAT BT

(iv) ST BIS HRAT

(v) fAepet @1 Heeryor

UIGuhH Yedie & XU Bl Hel HA A

TR —

(1) (i), @v), (v), (i), ()

@) (@), (i), (iii), (i), (v)

(3) (), (i), (v), (iii), (iv)

@) (iv), (iii), (i), (i), (v)

(5) Sr<iRa ¥

HeET & g e $ yEl $ AR A

frafoRad § § BT/ wE 8 /87

(i) FRex fafer gt wewafda & gurR ol
=

(i) Te SfavTet ff AR weewle # R
ol B |

(iii) <9 3faxrel Iy Tfa wewfed § QR

BT B

e e g -

(1) ®ad (ii) 37X (iii) T ©

(2) Had (i) iR (iii) T &

(3) Bad (i) 3fR (ii) FET &

(4) ®ae (i) ¥

(5) IgaRa ue

W prftys  tagd e ol e

(SCAT-C) 9= & farq 1977 # fas gR1 =1

qT?

(1) Vo= @ fer
(3) “ou+ (4) 7cH
(5) IrgaRd ued

g8 Tfafaf o gt & forg w@=sr | & S
2 3R =T WU ¥ o 3 Hgfte ¥ uRa sl
g S¥ 1 Fud 87

(1) frer (2) wéq
(3) Rfspge 4) @a
(5) IR g%
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¢

137. Which of the followings are correct about

138.

139,

140.

Swimming?
(1) Swimming was included in the first modern
Olympic Games at Athens in 1896.

(ii) Diving events were added in 1904.

(iii) National Swimming Association of India
was founded in 1949.

Select the correct code -

(1) Only (i) and (ii) are correct

(2) Only (i) and (iii) are correct

(3) All (i), (ii) and (iii) are correct

(4) Only (ii) and (iii) are correct

(8) Question not attempted

The ease and thoroughness with which one

learns new motor skills -

(1) Motor Fitness

(2) Motor Educability

(3) Motor Learning

(4) Motor Capacity

() Question not attempted

Anthropometry was first introduced in physical

education by a physician, ........................

(1) Dr. Barrow

(2) Dr. D.A. Sargent

(3) Dr. Edward Hitchcock

(4) Dr. Lumpkin

() Question not attempted

Which of the followings are correct about

microcycle?

(1) In a microcycle training load should remain

constant.

(i1) In a microcycle training task must be varied.

(iii) On the last day of the microcycle complete
rest should be given.

Select the correct code -

(1) All (i), (ii) and (iii) are correct

(2) Only (i) and (iii) are correct

(3) Only (ii) and (iii) are correct

(4) Only (i) and (ii) are correct

(5) Question not attempted

58

a1 05

137.

138.

139.

140.

IR & IR F FEfolad § ¥ SR B wd

g?

(i) TRIEY BT 1896 F vorw ¥ ymer amyfIw
3iicifte Weli § wnfier fasar T o)

(ii) STSfAT wetert B 1904 3 Srer T o7 |

(iii) R TERT ARTHT Y &) RM9=T 1949 3
gs o

e e g —

(1) Baat (i) 3R (i) T &

() daer (i) 3R (iii) g8 &

() = (1), (ii) 3R (iii) FET &

(@) Bae (i) 3R (iii) & &

(5) srgaRa wed

I8 HEuidl AR AU e w1 afdm

Y AR BT ERgar & —

(1) & (Aiex) fhesr

() T (\reR) Rrmfgar

() THE (HieR) MferT

(@) THE (AIex) eHdr

(5) SrgaiRa U

GRS BT Ugell IR WIRE RiEm ¥ ue

(1) 7. 5%

(2) 7. S1u. goie

() Si. Teas feaaie

(4) Sf. F=ufdT

(5) argaRa wed

AgIaEfha & IR ¥ FEfaRed § ¥ a9

|E &7

(i) ArgspraTgiha URkErT § die Rer v&qT
1Ry |

(i) ArgspaTSihe ulderor erd & fafdear
EuE

(iii) ATgspIeTS b @ 3ifom s gof fasm R
SIET ARy |

WEl e g -

() =9 (i), (ii) 3R (i) GE &

(2) oad (i) 3R (iii) T &

(3) Baet (ii) 3R (iii) FE &

(4) Haat (i) 3R (ii) 98T &

(8) Sr<iRd e
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141

142.

143.

144.

- Who has given the definition of play as “play is

an activity which is in itself free, aimless,
amusing and diverting”?

(1) Stern (2) James S. Ross

(3) Lazarus (4) Gullick

(5) Question not attempted

Which among the following is not a correct
criterion used in determining Test Reliability?
(1) Test-Retest criterion

(2) Split half criterion

(3) Measurement error criterion

(4) Construct criterion

(5) Question not attempted

Which of the following is the regression
equation for finding Barrow General Motor
Ability Score?

(1) 2.6 (Standing Broad Jump) + 1.6 (Softball
throw) + 1.4 (Zig-zag Run) + 1.2 (Wall Pass)
+ 1.2 (Medicine ball Put) + time of 60 yards
dash

2.4 (Standing Broad Jump) + 1.8 (Softball
throw) + 1.6 (Zig-zag Run) + 1.2 (Wall Pass)
+ 1.0 (Medicine ball Put) + time of 60 yards
dash ] ;

2.4 (Standing Broad Jump) + 1.8 (Softball
throw) + 1.4 (Zig-zag Run) + 1.2 (Wall Pass)
+ 1.0 (Medicine ball Put) + time of 60 yards
dash

2.2 (Standing Broad Jump) + 1.6 (Softball
throw) + 1.6 (Zig-zag Run) + 1.3 (Wall Pass)
+ 1.2 (Medicine ball Put) + time of 60 yards
dash

(5) Question not attempted

If the three pulse count of Harvard Step Test are
90, 85 and 75, what will be the Fitness Index?

(2)

(3)

(4)

-8 el B g fhes ) 2w e Ul

nfafafsr 8 S eum mu ¥ W, deug,

RGP AR &I WP drell 277

(1) == (2) oi=g vH. 39

(3) oeIR¥| (MW

(5) srERT T
142%%@&%%@%%&%%%%%

fr=rfaRad § @ @ar ¥ Ards T8 87

(1) T 7S

(2) Rere B AMes
(3) = Ffe A
(4) &I A

(5) sraiRa U=

143. R} TR Hiex FHdT WPR S By B forg

fraforRad # & d=ar ufoT w¥ievor 87
(1) 2.6 (BT dfs oU) + 1.6 (Fivedfer o) +
1.4 (RET—S =9) + 1.2 (dfer o) + 1.2
(@feRm dfa ge) + 60 T o1 SIS BT I
(2) 2.4 (RfET dfs wu) + 1.8 (Hivedra o) +
1.6 (RFT—97 39) + 1.2 @ ™) + 1.0
(FRRTE 9 q2) + 60 T BT ST BT T
(3) 2.4 (VS dfs U) + 1.8 (Aivedrer o ) +
1.4 (RET—3FT 39) + 1.2 (dfer o) + 1.0
(@R 9 g2) + 60 T BT I & T°
(4) 2.2 (fST dfe WU) + 1.6 (divedre o) +
1.6 (RFT—<rT =9) + 1.3 @d 99) + 1.2
(AfSRr dfct ge) + 60 TS & re BT THY

(5) IRT U

1“&%@%@@%&%%%%% 85

3R 75 €, a1 fheaq seaq @ar s8rm?

(1) 60 (2 70 (1) 60 (2) 70
(3) 75 (4) 65 (3) 75 (4) 65
(5) Question not attempted (5) srgailRa A
145. Keeping in mind, the nature of the activity, the 145 Tfifafer 1 upfcr o7 &= # 3@ §Y, HeIwIH
endurance can be classified into how many H] fhas UBRT aTﬁ-c!,—ﬂ frar SI1 g&dar 2?7
g’;’e“ (1) = (2 =R
Two (2) Four :
3 4) qj
(3) Three (4) Five ey i Sl
(5) Question not attempted 7+ 1A3(5) SrgeiRa s
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146.

147.

148.

149.

150.

Bulletin Board serves as a good medium of

communication between the students
and ..aasaaan

(1) Friends (2) Parents

(3) Pupils (4) Administrator

(5) Question not attempted

Wimbledon Championships were played in
London first time in which of the following year?
(1) 1877 (2) 1888

(3) 1895 (4) 1890

(5) Question not attempted

In plyometric training, loads should be included
for the development of which three components?
(1) Strength, speed and agility

(2) Strength, endurance and flexibility

(3) Strength, endurance and coordination

(4) Strength, speed and endurance

(5) Question not attempted

If following are the list of events of Day-1 of
Men’s Decathlon -

(1) 100m Race

(1) Shot-put

(1ii) High jump

(iv) 400m Race

(v) Long jump

Arrange the sequence of events in order of their
conduct.

(1) (v)=(iv)=(iii)—=(@i)—(3)

() (i)—(ii) = (iii) > (iv)—(v)

() (i)—=(v)—=(ii)—(ii)—(iv)

@) ()= (>)—=(iv)—=(iii)—=(v)

(5) Question not attempted

Which of the following factor doesn’t affect the
Reliability of a test?

(1) Specificity of the group
(2) Nature of Examiner

(3) Length of test

(4) Motivational factor

(5) Question not attempted

147.

148.

149.

150.

AT TS BT TG oo @ 9 FOR
BT TP 3[BT HEdq ¢ |

(1) A= (2) rfvTas

(3) afa (4) yermEs

(5) 3rxiiRe we

fdgeres A= ugelt IR e ¥ fF=feaRaa

H ¥ g af @elt 72 of?

(1) 1877 (2) 1888

(3) 1895 (4) 1890

(5) IR U

ded gReE # fdq O geal @ faem
% v wR wfder far o anfae?

(1) wiftp, 1feT 3R =oetar

(2) wifts, a9 iR oreamas

(3) wiftp, TEawRe iR TH=g

(4) wiftp, TIfar 3iR wE=wIfp

(5) 3rgaiRa U

?Frﬁ‘vl@?r oY SHIIE b YUH 7 & gdew
(i) 100 #1. g%

(ii) 7T Bb

(iii) I B

(iv) 400 #I. TS

(v) T

oY 1Y 3dey @I I AT B HH b AFAR
4Ry _ﬁl

(1) (v)=(iv)—(iii)—(ii)— ()

) ()—(@i)— (i) — (V)= (V)

B) ()= (V)= ()= (i) = (iv)

@) (i)—®1)—(v)—>(ii)—(v)

(5) argaRa U

frfafaa § | S99 FRS ol Teqor 3
faeay=iaar &1 yarfad T8l war 87

(1) 998 &1 fafrear

() wders B B

(3) udteror ot @y

(4) IRP BRS

(5) iR U
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